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3
x7 ] 1+x6/x5 — cee — x1+x2+1/x1x2’
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X3 = 0tlfy, x4 =140, =0 = xi+x;+3x§+3x2+1/xix2,
2 3
X5 = Hxfy, = o0 = x2+2x2+x1+1/x912x2,
3 46 3 3 3 2
Xg = 1+xs /x4 — xl+2x1+3x2x1+1+x2+3x2+3x2/x§xi,
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X3 = 0tlfy, x4 =140, =0 = xi+x;+3x§+3x2+1/xix2,
Xs = Hxgfyy =00 = x§+2x2+xi+l/xfxz,
Xg = 1+x53/x4 —r— x‘;+2xi+3x2xi’+1+x;+3x§+3x2/x§xi’
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X3 = 0ty x4 = 1+x33/x2 — e = xi+x;+3x§+3x2+1/xix2,
X5 = 1%y = o0 = x§+2x2+xi+l/xfxz,
X6 = 1+x53/x4 A x‘;+2xi+3x2xi’+1+x;+3x§+3x2/x§xi’
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X2 Xq X6 X8
X3 = 0ty x4 = 1+x33/x2 — e = xi+x;+3x§+3x2+1/xix2,
X5 = 1%y = o0 = x§+2x2+xi+l/xfxz,
X6 = 1+x53/x4 A x‘;+2xi+3x2xi’+1+x;+3x§+3x2/x§xi’
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X3 = 0ty x4 = 1+x33/x2 — e = xi+x;+3x§+3x2+1/xix2,
X5 = 1%y = o0 = x§+2x2+xi+l/xfxz,
X6 = 1+x53/x4 A x‘;+2xi+3x2xi’+1+x;+3x§+3x2/x§xi’
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+48 x14xp+5 114466 x52 +220 x33+495 x4 +798 x4 x4
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o000 (Coooao) goooooooo 20090 6 0 120 12/18



X1 X3 Xs X7 X9
X2 X4 X6 Xs

X8 =x1121x25 [**]’

x9 — 1+x8/x7

o000 (Coooao) goooooooo 20090 6 0 120 12/18



gooo

X1 X3 Xs X7 X9
X2 X4 X6 Xs

x8 =W[**],

x9 - 71 3 [x112+7x2x18+3 x18+3 x22x18+18x23x14
X_X
12

+5 x24x14+24 x22x14+3 x14+14 x14x2

+x27+7x2+7x26+21x22+35x24+35x23+21x25+1]

(oooo) goooooooo 2009 0 6 O

120

12/18



goog

1
X3 = —[xx], x4 = ——[*+],
1 X X
1
1 1
xs = ——[xxl, x = ——=l[¥x],
X X2 XX
1 1
X7 = [**]’ Xg = 12 5[* ],
X% XX
! [++] [++]
= P = P
X9 R s X10 16,7 ’
172 172
1
n= [¥x], xp2= m 9[* 1,
1% X%,

0000 (mooog) ooooooooo 20090 6 0 120 13/18



goog

1
x3 = —[#x], x4=

— [x4],
X1 X X2
1
xs = ——[erl, xg = —I[#s],
R 7 X X
[#x] ! [#x]
X7 = 3k Xg = *k
7 252 ’ 8 1255 ’
172 172
! [*x] [*x]
Xo = Kk X = Kk
9 7 s 10 16,7 ’
172 172
1 1
X = 4[**], X2 = — 9[**],
XX, x'x

gobooboonod

0000 (mooog) ooooooooo 20090 6 0 120 13/18



ooooooooooooEPo)

X1 X3
X2 X4

x3 - x22+1/x1, x4 - X32+1/x2

o000 (Coooao) goooooooo 20090 6 0 120 14/18



ooooooooooooEPo)

X1 X3
X2 X4

x3 - x22+1/x1’ x4 e x12+x24+2x22+1/x12x2,

o000 (Coooao) goooooooo 20090 6 0 120 14/18



ooooooooooooEPo)

X1 X3 X5
X2 X4

x3 - x22+1/x1’ x4 e x12+x24+2x22+1/x12x2,

x5 - xi+1/x3

o000 (Coooao) goooooooo 20090 6 0 120 14/18



ooooooooooooEPo)

X1 X3 X5
X2 X4

x3 - x22+1/x1’ x4 - x12+x24+2x22+1/x12x2,

6 4 2.2 2 2 4
x5 X2° 432 +2 x1°x2" 43 x2°+2 x17+x; +1/x13x22’

o000 (Coooao) goooooooo 20090 6 0 120 14/18



ooooooooooooEPo)

X1 X3 Xs
X2 X4 X6

x3 - x22+1/x1’ x4 - x12+x24+2x22+1/x12x2,

X208 4+3 x4 42 x 1202 43 1242 x12+x14+1/x13x22’

X5
x6 - x:+1/x4

o000 (Coooao) goooooooo 20090 6 0 120 14/18



ooooooooooooEPo)

X1 X3 Xs
X2 X4 X6
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xs - X3 +3x°+2 x1°%2°+3 x2°+2 x1°+x7 +1/x13x22,

[.3(316 + 2x14x22 + 3x14 + 6X12X22 + 3X12XZ4 + 3X12 + 4X22,

Y6 = 3y.4
X2 X1

+4x5 + .8 + 1+ 6x,7

X7 = [xls + 2x16x22 + 4.7(/'16 + 6x14 + 9x14x22 + 3x24x14 + 12x12x22
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xs — 1+x2/x1, x6 — 1+X2/x3’ x7 — 1+x2/x4’

xg = l+xsxexsfy, = 1+3x2+3x§+x§+x1x3x4/x1x2x3x4,
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xs — 1+x2/x1, x6 — 1+X2/x3’ x7 — 1+x2/x4,

xg = l+xsxexsfy, = 1+3x2+3x§+x§+x1x3x4/x1x2x3x4,
godogno
X9 Xg Xi0
X11

X9 = (1+x2)2+x1x3x4/x2x3x4, X10 = (1+x2)2+x1x3x4/x1x2x4,
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X1 = 1+x9x10x11/x8
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X9 X8 X X9 X X
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X11 X11

x9 — (1+xZ)2+X1x3x4/x2x3x4, x10 = (1+x2)2+x1x3x4/x1x2x4,

X1 = (1+x2)2+x1x3x4/x1x2x3,
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X9 X1 X X13 X1 X X13 X16 X
9 X12 X10 13 X12 X4 13 X16 X14
X11 X1s X1s
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x15 - 1+x2+x1x3x4/x2x4, x16 e 1+x1x3x4/x2,
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